Y4 — Autumn — Block 4 — Step 8 — 7 times-table and division facts Answers

Question ' Answer
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11XxX7=77
7x13=091
84 +-7=12
14 X7=98

The shaded squares are in straight lines in two directions.
The last digit of 13 X 7 is the same as the last digit of 3 X 7 and the last digit of
14 X 7 is the same as the last digit of 4 X 7

84
49
28
70




Y4 — Autumn — Block 4 — Step 8 — 7 times-table and division facts Answers (continued)

Question ' Answer

70 | 63 | 56 | 49 | 42 | 35 | 28
5
0 7 14 | 21 | 28 | 35 | 42
a)
1x5=5 1x2=2 1x7=7
2x5=10 2x2=4 2x7=14
3x5=15 3x2=6 3x7=21
6 4x5=20 4x2=8 4x7=28
5x5=25 5x2=10 5x7=35
b) Add together the multiple of 5 and the multiple of 2
a) 350
b) 12X 70 =840
2 c) 3X700=2,100
Work out 3 X 7 and then multiply by 100
Some children may multiply by 7, then by 10, then by 10 again.
a) 4x70=280
4 x 700 = 2,800
b) 6Xx70=420
700 X 6 = 4,200
8 c) 5x70=350
7 X 500 = 3,500
d 56+7=38

560 =7 =80
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